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INSTRUCTIONS TOTHE CANDIDATE
You should have the following for this examingtion:

Drawing instruments;

Answer booklef, :
Thiv paper consists of ENcITT questions in TWO sections; A and 1,
Answer FIVE questions fafing of least TWO questions from each- section.
Al guestions carry equal marks.
* Meaxdmum marks for each part of a guestion dee av shown.

Candidates should answer the guestions in English.
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This paper consists of 3 printed pages.

Candidates should check the guestion paper to ascertain that
all the pages are printed a5 indicated and that no guestions are missmg.
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SECTION A
Answer at least TWO questions from this section.

Lising sketches, explain the following types of rear axles:

{1} semi-floating;
(1) fully-floating, (6 marks)

With the aid of a diagram, explain the operation of a four speed constant mesh manual
gearbox. {14 marks}

state two advantapges of:

(1) constructing a vehicle with @ separate chassis;
{ii) mountinge the engine at the front of the vehicle. {4 marks)

With the aid of & dizgram, explain the operation of a power assisted steering svstenm.
{16 marks)

i State three functional requirements of a motor vehicle suspeénsion system.

11 state three advantages of mibber sprngs over metal springs as used in motor
vehicle suspension sysiems, {6 marks)

Using a diagram, explain the operation of a telescopic damper. (i4 marks)

i1} Using sketches, illustrate tweo ways 1o which tyres of a rear wheel drive car can
be rotated.

(i) Explain three reasons for having tires with comect (YT prossune o a moiior
vehicle, (7 marks)

With the aid of a labelled diagram_explain the operation of an indircet acting power

brake servo, f B3 marks)
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SECTION B
Answer af least TWO questions front this secifon.

State three possibie causes of improper suspension height on a motor vehicle.

(3 marks)

(W) Acaris brooght into the workshop with a faulty Macpherson strut. Describe the
A procedure for servicing the strut. {17 marks)
!E{ Dieseribe the procedure for overhauling 3 manual gearbox. {20 marks)
T. () Describe the procedure for balancing a car wheel. {3 marks)
(bl Avwechicle is brought into the workshop with a fanlty power sleering pump. Describe the
procedure of servicing the pump. (15 marks)
{:/ﬁ- {a) State two possible causes of hrake chatler (2 marks)
(b} Acaris bronght into the workshop with ineffective disc brakes. Describe the procedure
~ tor servicing the disc brakes. (18 marks}
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